WSS : 300919 W RIRR: R0y NGRS 2025-073

T ERHTAR AT A R 2 ]
B ERESE T\ REVURYAE

AT REEXEARARIERS BEBENNFRESE. #. 28, EABERER. R
PR EE KB .

—. SWAFER

PR F R A IR AR (BURRIFR “AR”7 D B miiEa s =/ \RailtT 2025
6 H 12 HUBAE IR 45577 A E T UGB T 2025 4 6 H 9 H BLi T #4550
R, SWNBIRFE=N, L= 2WESERFERBHRFSTEFES TR, 2l
HITFFE (AFRE) M (ARFER) E, SWUEERRG

. SWERER

L LL3EAR, 0 BRkx, 0 FZFM, HP0ELT (GET% 2023 54 B B
THRIE KRBT E R TIH REER)

Wi, WHESAY: RE CEHA R BB E ML) GRYIREZRAE 5 B QbR
SRR AR (2023 SEIREEBEREITERI (5 ) BAHSHE, T A 2024
I LA G 73R S 2024 SR IR R 70 IR CSE e B, TR R m AR HE AR SR E X 2023
A IR s Sl TR B IR S TR 5 T AR T AR AT TR RS R O R TR R T A
4 20.52 TC/B -

BHARNETER AT 2025 4 6 H 13 HEE T E# 5 IRM (www.cninfo.com.cn) ] (% T
T 2023 AR VEBCER 0 THR S R R R TR A ) .

2. L3 EFRE, 0FZRX, 0FEF, FUGERT (GRTF 2023 4R B E R R
BHRETHEMNABHEBER T A V3B 58 KAt SR

WU WHESIN: RS CETA R BB E B ANE)  GRYINEZRAE 5 Fr LR i
SEEWRY « AR (2023 ERRGIHEBRSRETIR] (REZ) ) SHHE, AR 2023 R
P S SR T R AR TR 23 B AN R B R PR 4 T AR N A R R E KA R AR B
B, 1R R A FIARIE AH DK E VR & DA% 1) 1122 44 U0t R 75 2R BR i 14 B 52 0 R =
AT A Je 1) PR A B SR 3T 282.8920 T3 Mt

1




HAENBEER AT 2025 F 6 H 13 H#EE T E# 5N (www.cninfo.com.cn) ] (T
2023 A BRI SRR TR B AR T ANV R S T AT AN A R AR A
BIAE) o

3. L3IRFAR, 0 BRM, 0 ZFN, FYOEL T (RTERH2 ERTHARBBIIR
Ll &P E )

WU, WHESINA: AR 2023 PR HE RSB THRIATE B AR TR R 5 A
VA i 1 S B A TR 45 T Ut R — AN R A B JE T Sk Bl B AR TSR HAME, 53,
A 232 4 3Ualat R EAS AR R, 1 A3 ik I, 13 A0 & B IS A )0E
J& - 203 L REAN N E—FEEZLGG REUNT 0.9 TR TAET 0.8, MAEHHELL
%179 80%. 4 ZWINA RN N E—FEEZLRE REBUNT 0.6, D NZHEAE LGN 0%,
BIR AT AR B 246.6573 Ji B IRBITEBEEATIHE, BAmMER. AT ARIEE
I3 BRI SR IR A LT F OB B IME D (IRDIRIESR 58 5 i B AR e 22 b i R
WY ATF (2023 AERREIVERZEEER (R ) A ME, FEARAREEAS
VA R R A PR R R 3R T 246.6573 il

HAENBEER AT 2025 F 6 A 13 98 T E# 5N (www.cninfo.com.cn) f (3T
PRIy AR T M AR R I PR EBCE A S D) .

=, FEXH

ACIE e S i AN/ V7SI

R A

TR ET AT R AR A BR A 7
LA

“OZ-hFEAHT=H



